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7|E} - 23
H(EHD) 0.30 0.00 0.00 0.00 0.00 0.00
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[E 2-10] H7E Y HEo¥AA

(E491:9%, )
SENQ 7|2/ SEENQ L /EE
Abe = A =2 qioj| EZ 25N =2 ol =542
IF | BATesHel| gakn | x| ESME | s
A4 721gl |~ =0 e
" %(H|F) ; 100.0 0.0 0.0 136 9.1 45
7
HE@D) 0.30 0.00 0.00 0.04 0.03 0.01
%(H|Z) 100.0 0.0 0.0 00 0.0 0.0
=8 - 10
(TR 0.20 0.00 0.00 0.00 0.00 0.00
9%(515) - - - - - :
=57/9% - 6
H(ER) 0.00 0.00 0.00 0.00 0.00 0.00
o (H|= - - - _ _ _
o | 1) 2
=g HER) 0.00 0.00 0.00 0.00 0.00 0.00
=
= Of %(H|Z) 100.0 0.0 0.0 00 0.0 0.0
HeHEHA 4
HE 0.25 0.00 0.00 0.00 0.00 0.00
%(H|F) 100.0 0.0 0.0 42.9 143 143
38 - 28
HER) 0.25 0.00 0.00 0.11 0.04 0.04
%(H|F) 100.0 0.0 0.0 00 8.3 0.0
7| Ef - 23
H(ER) 0.52 0.00 0.00 0.00 0.04 0.00
EENQ HL/EH
AtElg | HA 20pE 259l 259l
DApp 7HE | BZLIS | Edms | =g
%(H|Z) 100.0 0.0 318 0.0 0.0
H| - 73
H(E@Z) 0.30 0.00 0.10 0.00 0.00
%(HIZ) 100.0 0.0 0.0 0.0 0.0
=28 - 10
(D) 0.20 0.00 0.00 0.00 0.00
9%(515) : - - : -
=57/98 - 6
(D) 0.00 0.00 0.00 0.00 0.00
o/ (H|= - - - - -
gzl | ) 2
=g () 0.00 0.00 0.00 0.00 0.00
=
=]
= Of %(H|Z) 1000 0.0 0.0 0.0 0.0
HeEHA 4
HER) 0.25 0.00 0.00 0.00 0.00
%(H|E) 100.0 0.0 0.0 0.0 0.0
38 - 28
H(ER) 0.25 0.00 0.00 0.00 0.00
%(H|F) 100.0 0.0 583 0.0 0.0
7|Et - 23
H(ER) 0.52 0.00 0.30 0.00 0.00
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A A 4
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o %(HIS) 100.0 28.6 0.0 0.0 0.0 0.0
rSKe] 28
(") 0.25 0.07 0.00 0.00 0.00 0.00
%(H|B) 100.0 25.0 0.0 0.0 8.3 0.0
7|E} . 23
EH(EH) 0.52 0.13 0.00 0.00 0.04 0.00
7| Et
At A 2242 | 2EH9 | 4x =2
N ico 713 | loc 4| Sas | s | 9R S
= o [
" %(H| =) 100.0 0.0 0.0 0.0 0.0 0.0
73
HE) 0.30 0.00 0.00 0.00 0.00 0.00
e %(H|B) 0 100.0 0.0 0.0 0.0 0.0 0.0
(=)
H(EH) 0.20 0.00 0.00 0.00 0.00 0.00
%(H1B) - - - - - -
=25/95 - 6
(") 0.00 0.00 0.00 0.00 0.00 0.00
%(H|E) - - - - - -
Ao - 2
=g () 0.00 0.00 0.00 0.00 0.00 0.00
=
= OF %(H|B) 100.0 0.0 0.0 0.0 0.0 0.0
AHEA 4
H(ED) 0.25 0.00 0.00 0.00 0.00 0.00
%(H|E) 100.0 0.0 0.0 0.0 0.0 0.0
& - 28
(") 0.25 0.00 0.00 0.00 0.00 0.00
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7|E} . 23
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%(H|S) 100.0 12.1 0.0 0.0 12.1 21.2
| — 73
HED) 0.45 0.05 0.00 0.00 0.05 0.10
e %(H|T) 0 100.0 16.7 0.0 0.0 0.0 333
[=Ns)
HE@d) 0.60 0.10 0.00 0.00 0.00 0.20
%(H|E) 100.0 16.7 0.0 0.0 0.0 0.0
=F/78 - 6
H(E) 1.00 0.17 0.00 0.00 0.00 0.00
%(H|E) - - - - - -
A7 0f 2
=q H(E) 0.00 0.00 0.00 0.00 0.00 0.00
=
= Of %(H|T) 100.0 12.5 0.0 0.0 12.5 12.5
Ay EHA 4
HE 2.00 0.25 0.00 0.00 0.25 0.25
o %(HIB) 100.0 12.5 0.0 0.0 375 50.0
28 28
H(E) 0.29 0.04 0.00 0.00 0.11 0.14
%(HIE) 100.0 0.0 0.0 0.0 0.0 0.0
7| E} = 23
H(E) 0.22 0.00 0.00 0.00 0.00 0.00
EE82 HL/EH
At HAl w | SOE E51Q! 25X
FHE2H Sall= 4
DApp 7' o AE= =zt
%(H| =) 100.0 0.0 15.2 0.0 3.0
H| - 73
HEdd) 0.45 0.00 0.07 0.00 0.01
%(H|E) 100.0 0.0 0.0 0.0 0.0
=28 - 10
H(ED) 0.60 0.00 0.00 0.00 0.00
%(H|T) 100.0 0.0 16.7 0.0 0.0
=F/78 - 6
H(E) 1.00 0.00 0.17 0.00 0.00
. %(HIE) - - - - -
AAH 0O - 2
=q H(ED) 0.00 0.00 0.00 0.00 0.00
IOF
B %(HIE) 100.0 0.0 0.0 0.0 0.0
HHEHA 4
H(E) 2.00 0.00 0.00 0.00 0.00
%(H|T) 100.0 0.0 0.0 0.0 0.0
38 - 28
H(E) 0.29 0.00 0.00 0.00 0.00
%(HIE) 100.0 0.0 80.0 0.0 20.0
7|E} . 23
H(E) 0.22 0.00 0.17 0.00 0.04
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- %(H| =) 5 100.0 18.2 0.0 0.0 9.1 0.0
H 7
HEdd) 0.45 0.08 0.00 0.00 0.04 0.00
e %(H|E) 0 100.0 16.7 0.0 0.0 333 0.0
[=¥S)
HE 0.60 0.10 0.00 0.00 0.20 0.00
2mog %(H|T) ’ 100.0 0.0 0.0 0.0 16.7 0.0
= S
o H(E) 1.00 0.00 0.00 0.00 0.17 0.00
%(H|E) - - - - - -
A7 0f - 2
=g H(E) 0.00 0.00 0.00 0.00 0.00 0.00
= 0f %(H| ) 100.0 62.5 0.0 0.0 0.0 0.0
HeEA - 4
H(ED) 2.00 1.25 0.00 0.00 0.00 0.00
oo %(H|T) " 100.0 0.0 0.0 0.0 0.0 0.0
°° H(ED) 0.29 0.00 0.00 0.00 0.00 0.00
S| %(H|E) 100.0 0.0 0.0 0.0 0.0 0.0
23
H(E) 0.22 0.00 0.00 0.00 0.00 0.00
7| Et
At HA| N SENQ | SN | 4x =2
o IO 712 | 10C MAt| A~ E713||°_++_ “%aT
- %(H|E) 5 100.0 3.0 0.0 3.0 0.0 3.0
H 7
HE) 0.45 0.01 0.00 0.01 0.00 0.01
e %(H|E) 0 100.0 0.0 0.0 0.0 0.0 0.0
B
- H(ED) 0.60 0.00 0.00 0.00 0.00 0.00
%(H|T) 100.0 16.7 0.0 16.7 0.0 16.7
27/98 - 6
H(ED) 1.00 0.17 0.00 0.17 0.00 0.17
%(H| &) - - - - - -
HAHO] |l 2
=g H(E) 0.00 0.00 0.00 0.00 0.00 0.00
= %(H| ) 100.0 0.0 0.0 0.0 0.0 0.0
He A~ - 4
H(ED) 2.00 0.00 0.00 0.00 0.00 0.00
%(H|T) 100.0 0.0 0.0 0.0 0.0 0.0
SE - 28
HE 0.29 0.00 0.00 0.00 0.00 0.00
e} %(H|E) 100.0 0.0 0.0 0.0 0.0 0.0
23
H(E) 0.22 0.00 0.00 0.00 0.00 0.00
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H A 73 16.4 11.0 49.3 20.5 1.4 1.4
=8 10 20.0 0.0 60.0 20.0 0.0 0.0
=F/7e 6 16.7 16.7 66.7 0.0 0.0 0.0
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3 A 73 14 61.6 19.2 15.1 14 14
=8 10 0.0 60.0 20.0 20.0 0.0 0.0
=R/FE 6 0.0 83.3 16.7 0.0 0.0 0.0
=q A7 0f 2 50.0 50.0 0.0 0.0 0.0 0.0
= OF e A 4 0.0 50.0 50.0 0.0 0.0 0.0
38 28 0.0 57.1 17.9 214 3.6 0.0
7|EL 23 0.0 65.2 17.4 13.0 0.0 43
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7.1
43
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333
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143
43

8.7

2.7
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0.0
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0.0
0.0

304

4.1
10.0
0.0
0.0
0.0
3.6
43

65.2

5.5
0.0
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0.0
14.3
0.0
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333
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;’; Ymis Alptee) e B 2SA9 o SW QEeE ¥ weEA dAF 24

2. E5AIQ0 Zof w0 tigt A5 X w§ ARG o] QAL

O S5AI0 Zofoll et AR} S YA} wa S ofo] AAJstal A
AN gl AR 5130 22419l Ropol it AR XY @& Aol
Aoje oAte AHBH, FoiF oAt ST 58.8%R UpERtw, ‘Frojst
oAb}t 9IS’ 41.2%% moty

O A% A1 28 AR Aol APt Qe r Al 30329 Aefstn Ale AR A
Y W8S AWEY RIIIMAIY N AR 0| 56.7%2 7 =7 UEL
Ll "dsEHAAl 33.3%, V1E 10.0%= mobd

[1% 2-14] S2HQ 2of B0 i3 HE X 1 MY Hof ol
(TH:%)
— Bo{ 5l 4o Bg -
56.7

333
10.0
Ytz IrAEAE 7|Ef
HHH g HaAY
Base: TH| 7|& & AKX 3 YAK ng 2HS LASHD AALE LAZ ol ALEA (n=51)
Base: Tl 7| & & K& 2g A B M A= AHSAH (n=30)
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Wiw mms . mpima s MR
‘-,4’.« QI= |21 THEL S| 21 5](1SC) =

0 S5AIR1 Fore] SW AR wagHio] Hasth Ao tis B2 o]Fn] A

Al ESAIR B RYolRks 9ol 78.8%2 TP w9kl O HEoR 5
SAIY MulA Z1=(77.6%), SSAU FA B4 (77.6%) SSAI) 22 B
S(75.3%), "S5AIRl 2 U2 (75.3%) 59 +o02 wots. AAHeR B=

= a
SSAIQ Zore] w&g B asdol 60% EAl =7 UErd.

[ 2-15] EEH|Q 20| sw X2 ngSHo| el

=54 E2
24 0|2k
24

i

i

Ho

E5H2 238/ =SHQ 2ot
Base: MA(n=73)
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,?s;»; SIntxtsioHe 7421 150) B 2249 2o} SW olEsa 2 wsEd 9% 24}
[E 2-23] E5HIQ Eof2] sw X FH ugzHo Ead SEHQ 44
(EH91:%)
e | St | ghy | we | do | 3Y | #me | =5 | me
oA 73 14 00 | 425 | 370 | 192 14 425 | 56.2
=8 10 0.0 0.0 200 | 60.0 | 200 0.0 200 | 800
=R/RE 6 0.0 0.0 333 | 333 | 333 0.0 333 | 667
=0 EE 2 00 | 0o | "] 00 | 0o | 00 | 1000| 00
=of AHuEA A~ 4 0.0 0.0 250 | 250 | 50.0 0.0 250 | 750
38 28 0.0 00 | 429 | 357 | 214 | 00 429 | 57.1
7|Et 23 43 0.0 522 | 348 | 87 43 522 | 435
[E 2-24] EEHIQ E0f2] sw X FH uKZHo QY EZ 0|A 0| HA
(EH91:%)
aea | ot b ms | 51 AT gme | s | e
H A 73 27 4.1 479 | 370 | 82 6.8 479 | 452
=8 10 0.0 00 | 400 | 600 | 00 0.0 400 | 60.0
=R/RE 6 0.0 16.7 | 333 | 500 | 00 16.7 | 333 | 500
=a A7 of 2 00 | 00 | "] 00 | 0o | 00 | 1000| 00
=of AuA A 4 0.0 0.0 500 | 250 | 25.0 0.0 500 | 500
28 28 3.6 7.1 393 | 357 | 143 | 107 | 393 | 500
7|EL 23 43 0.0 609 | 304 | 43 43 609 | 348
[E 2-25] EEHQ 20k sw % FE ugzdo e SEMQA Mujx 7|=
GEED
Me% | gnt | e | 2B | oo | o | #Ea | =5 | me
oA 73 14 2.7 397 | 384 | 178 | 41 397 | 562
=8 10 0.0 0.0 200 | 500 | 300 0.0 200 | 800
=R/FE 6 0.0 0.0 333 | 167 | 500 0.0 333 | 667
icj)lr A of 2 0.0 00 | " 00 | 00| 00 | 1000 00
= HHEHA 4 0.0 0.0 50.0 | 250 | 25.0 0.0 50.0 | 500
& 28 0.0 7.1 357 | 393 | 179 7.1 357 | 57.1
7|Et 23 43 0.0 478 | 435 | 43 43 478 | 478

1 39



Ve mmyis . Aime| Mg
) ,\ oI=I x}2ITHEL I 2I5](1SC)

[E 2-26] E5HIQ!

20f°] sw XHZ

e | St | by we | 42| 2Y lgme | =5 | me
| 73 0.0 5.5 370 | 384 | 192 5.5 370 | 575
=8 10 0.0 0.0 200 | 500 | 300 0.0 200 | 800
=R/RE 6 0.0 167 | 333 | 333 | 167 | 167 | 333 | 500
=0 EE 2 00 | 0o | "] 00 | 0o | 00 | 1000| 00
=of AHuA A 4 0.0 0.0 250 | 250 | 50.0 0.0 250 | 750
28 28 0.0 36 250 | 464 | 250 3.6 250 | 714
7|Et 23 0.0 8.7 56.5 | 304 | 43 8.7 56.5 | 348
[E 2-27] E5HIQ E0f2| sw X FEH ug=Ho| Ay EENQ EHE 7T
(EH21:%)
aea | Gt ghe  ms | 251 AT gme | s | e
oA 73 0.0 4.1 288 | 384 | 288 | 4.1 288 | 67.1
=8 10 0.0 0.0 10.0 | 300 | 60.0 0.0 10.0 | 90.0
=R/RE 6 0.0 0.0 333 | 500 | 167 0.0 333 | 667
=g s A3 of 2 00 | 00 | "] 00 | 0o | 00 | 1000| 00
=oF A~ 4 0.0 0.0 250 | 250 | 50.0 0.0 250 | 75.0
=8 28 0.0 36 179 | 464 | 32.1 3.6 179 | 786
7|EL 23 0.0 8.7 435 | 348 | 130 8.7 435 | 478
[E 2-28] S5HIQ 20ko| sw 22E ws=Ho| La’d DApp HE
(EF91%)
H A 73 0.0 4.1 370 | 397 | 19.2 4.1 37.0 | 589
=8 10 0.0 00 | 400 | 300 | 300 0.0 400 | 600
=R/RE 6 0.0 0.0 333 | 500 | 167 0.0 333 | 667
=g & A 7|0 2 0.0 0.0 50.0 | 500 | 00 0.0 50.0 | 500
=0F HHEHA 4 0.0 0.0 250 | 500 | 250 0.0 250 | 750
38 28 0.0 3.6 214 | 536 | 214 3.6 214 | 750
7|EL 23 0.0 8.7 565 | 217 | 13.0 8.7 56.5 | 348

1 40



¥4 =
dEI|= - AldEie] & A=) > =]
) 'S’Ch ﬂg;quuuet_?_ 213|(1SC) | E%Zﬂ?_ Io]: SW ‘?_]E—ﬂ]
L)

[E 2-29] EEHIQ £oko| sw HEE ISE| WY ANEHENE Ay

LTS :Eqﬂ ff..*g HE Efﬁ i'!ﬁ £¥2 | 28 | Ee
o AN 73 0.0 5.5 39.7 | 37.0 | 178 5.5 39.7 | 548
=8 10 0.0 0.0 300 | 200 | 500 0.0 300 | 700

=ER/AE 6 0.0 0.0 333 | 500 | 167 0.0 333 | 667

=0 EE 2 00 | 0o | "] 00 | 0o | 00 | 1000| 00
=of AHuA A 4 0.0 0.0 500 | 250 | 25.0 0.0 500 | 500
28 28 0.0 7.1 250 | 500 | 17.9 7.1 250 | 679

7|Et 23 0.0 8.7 56.5 | 304 | 43 8.7 56.5 | 348

[ 2-30] E5H|Q 202 sw X2H ngsde| oY S84 EXHES
(EH21:%)

aea | Gt ghe  ms | 251 AT gme | s | e

oA 73 14 82 | 466 | 342 | 96 9.6 466 | 438

=8 10 0.0 10.0 | 50.0 | 300 | 100 | 100 | 50.0 | 400

=R/RE 6 0.0 0.0 500 | 333 | 16.7 0.0 500 | 500

=g & A 7|0 2 0.0 0.0 500 | 00 | 500 0.0 50.0 | 500
=0F A~ 4 0.0 0.0 750 | 250 | 00 0.0 750 | 250
38 28 3.6 107 | 321 | 464 | 71 143 | 321 | 536

7|EL 23 0.0 8.7 565 | 261 | 87 8.7 56.5 | 348

[E 2-31] E5HIQ 2of2] sw 2 FEH ug=He| Ead SN2 S22
(EH21:%)

H A 73 0.0 9.6 493 | 329 | 82 9.6 493 | 411

=8 10 0.0 100 | 60.0 | 20.0 | 100 | 100 | 600 | 300

=R/FE 6 0.0 0.0 500 | 333 | 16.7 0.0 500 | 500

=g & A 7|0 2 0.0 0.0 500 | 0.0 | 500 0.0 50.0 | 500
=0F HuH A 4 0.0 0.0 750 | 250 | 00 0.0 750 | 250
& 28 0.0 143 | 357 | 429 | 7.1 143 357 | 500

7|EL 23 0.0 8.7 565 | 304 | 43 8.7 56.5 | 348

1 41



1ISCa’

EJ|= - AlglEiE] Ay

S W R I B ESA1Q #of SW QlEew B wS3d d8 24}
[E 2-32] E5HIQ E0f2| sw X FEH ugsHo Qd EENQ EHE 2F
(EH21:%)
e | St | by we | 42| 2Y lgme | =5 | me
o AN 73 14 27 | 452 | 329 | 178 | 4.1 452 | 507
=8 10 0.0 0.0 10.0 | 70.0 | 200 0.0 10.0 | 90.0
=R/RE 6 0.0 0.0 500 | 333 | 16.7 0.0 50.0 | 500
=g AAH Of 2 0.0 00 | 500 | 00 | 500 | 00 | 500 | 500
=O0F AHuEA A~ 4 0.0 0.0 750 | 250 | 00 0.0 750 | 250
38 28 36 3.6 393 | 286 | 250 7.1 393 | 536
7|EL 23 0.0 43 609 | 261 | 87 43 609 | 348
[E 2-33] E5HIQ E0fe] sw XFEH ugZHo Y EEXQ E Y
(EH21:%)
aeia | ot b ms | 251 AT gme | we | e
H A 73 1.4 4.1 548 | 260 | 13.7 5.5 548 | 397
=8 10 0.0 0.0 500 | 400 | 10.0 0.0 500 | 500
=R/FE 6 0.0 0.0 667 | 167 | 16.7 0.0 667 | 333
=g & A 7|0 2 0.0 0.0 500 | 500 | 0.0 0.0 500 | 500
=0F HufH A 4 0.0 0.0 750 | 250 | 00 0.0 750 | 250
38 28 3.6 36 | 464 | 286 | 179 7.1 464 | 464
7|EL 23 0.0 8.7 609 | 174 | 130 8.7 609 | 304
[E 2-34] E5HIQ 2of2| sw 2 2H ug=He| Ead SN |FXE,
(EH21:%)
eS| gut | g | 25 | o | 54 | EEE | 2% | Ze
3 A 73 14 41 | 493 | 342 | 110 | 55 493 | 452
=8 10 0.0 0.0 200 | 60.0 | 200 0.0 200 | 800
=ER/FE 6 0.0 0.0 500 | 500 | 0.0 0.0 500 | 500
=g & A 7|0 2 0.0 0.0 500 | 500 | 0.0 0.0 500 | 500
=0F A~ 4 0.0 0.0 750 | 250 | 00 0.0 750 | 250
& 28 36 36 464 | 321 | 143 7.1 464 | 464
7|EL 23 0.0 8.7 609 | 217 | 87 8.7 609 | 304

1 42



Voo m=y1s - Agima) Mg | 224
) .,’.\ QI K} RITHL S| 2 5](1SC) =

e | St | ghy | we | do | 3Y | #me | =5 | me

oA 73 0.0 4.1 397 | 315 | 247 | 41 39.7 | 562

=8 10 0.0 0.0 00 | 500 | 50.0 0.0 0.0 | 100.0

=R/RE 6 0.0 0.0 500 | 167 | 333 0.0 50.0 | 500

=g AAH Of 2 0.0 00 | 500 | 00 | 500 | 00 | 500 | 500
=O0F AuEA A~ 4 0.0 0.0 500 | 250 | 25.0 0.0 500 | 500
38 28 0.0 36 357 | 321 | 286 3.6 357 | 607

7|Et 23 0.0 8.7 56.5 | 304 | 43 8.7 56.5 | 34.8

(EH21:%)

aea | ot b es | 5 AT gme | s | e
H A 73 27 27 452 | 288 | 205 5.5 452 | 493
=8 10 0.0 0.0 300 | 400 | 300 0.0 300 | 700
=ER/FE 6 0.0 0.0 500 | 167 | 333 0.0 50.0 | 500
=0 A7 0f 2 0.0 0.0 500 | 00 | 500 0.0 50.0 | 500
=0F AHEA 4 0.0 0.0 500 | 25.0 | 250 0.0 50.0 | 50.0
=8 28 7.1 0.0 357 | 357 | 214 7.1 357 | 5741
7|EL 23 0.0 8.7 609 | 217 | 87 8.7 609 | 304
[ 2-37] ESHQ 20k sw %328 usgz3o a4y 10C 7|2
(EH:%)
aea | ot ghe | ms | 251 AT gme | ws | e
H A 73 6.8 178 | 507 | 178 | 6.8 247 50.7 | 247
=8 10 10.0 500 | 300 | 00 | 100 | 600 | 300 | 100
=ER/FE 6 16.7 0.0 667 | 00 | 167 | 167 | 667 | 167
= élr B AH of 2 0.0 00 | " 00 | 00| 00 | 1000 00
= HuH A 4 0.0 250 | 500 | 250 | 00 250 | 500 | 250
8 28 7.1 107 | 429 | 321 | 71 179 | 429 | 393
7|EL 23 43 174 | 609 | 13.0 | 43 217 609 | 174

I 43



1ISCa’

EJ|= - AlglEiE] Ay

[E 2-38] E5M[Q Z0Ie| sw A FH wsHO R/ 10C MA
(TH91:%)
3 Cta Cta& | Of$ - =
JIEES — s £ | _ - == s | ¥
BIF | gmg | 2mg | % | mg | mg | =22 | 2 2
H A 73 6.8 17.8 | 493 | 205 | 55 247 493 | 260
=28 10 10.0 50.0 | 20.0 | 100 | 100 | 600 20.0 | 200
=5/78 6 16.7 0.0 66.7 | 16.7 0.0 16.7 66.7 16.7
= 3 A7 0f 2 0.0 00 | 199 00 | 00 | 00 | 1000]| 00
I& 0
= HeEHA 4 0.0 25.0 500 | 250 | 0.0 25.0 50.0 | 25.0
S8 28 7.1 107 | 429 | 286 | 107 | 179 429 | 393
7|Et 23 43 174 609 | 174 | 00 217 60.9 174
[E 2-39] S5H4Q 2oie| sw AFH wsHo He/d EENQ HliL 2F
(TH91:%)
Hy Cha Ci& | Of _
Al E A — = = _ _ =5l = |
H A 73 9.6 219 | 466 | 178 | 41 315 466 | 219
=28 10 20.0 400 | 100 | 300 | 00 60.0 10.0 | 300
=257/98 6 16.7 167 | 500 | 167 | 0.0 333 50.0 | 16.7
= s A7 Of 2 0.0 00 | 19| 00 | 00| 00 | 1000]| 00
o 0
= HeEHA 4 0.0 250 | 750 | 0.0 0.0 25.0 75.0 0.0
S8 28 10.7 179 | 429 | 179 | 107 | 286 429 | 286
7|E} 23 43 217 565 | 174 | 0.0 26.1 56.5 174
[E 2-40] EEHQ 20ke| sw A FH wFHO| R/ EENIQ Hls EHot
(TH:%)
M3 Ct& Ct& | Of$ = =
UL ES =) i £ | - - = s | 4
H A 73 9.6 17.8 479 | 17.8 6.8 274 479 247
=28 10 20.0 400 | 100 | 200 | 100 | 600 100 | 300
=2R/98 6 16.7 0.0 500 | 167 | 167 | 167 50.0 | 333
= s A7 0f 2 0.0 00 | 19| 00 | 00| 00 | 1000]| 00
o 0
= HeEHA 4 0.0 25.0 500 | 250 | 0.0 25.0 500 | 250
-2 28 10.7 143 | 464 | 179 | 107 | 250 464 | 286
7|E} 23 43 174 | 609 | 174 | 00 217 60.9 174

1 44



¢
w HEI|S - AldEE] Arg] = o 5
MD'S’C. gﬁx}zyﬂgg 213](1SC) 1 —e‘%xﬂ?_ 'ﬂ:o}: SW ?_Ejy‘l‘
L)

[E 2-41] EEHQ Zore| sw X FE uIsH

NS | Sut | g | 2B | an | o | EHe | =2 | Ze

oA 73 12.3 137 | 507 | 164 | 68 | 260 | 507 | 233

=8 10 40.0 30.0 00 | 200 | 100 | 700 0.0 300

=25/58 6 16.7 0.0 667 | 167 | 00 167 | 667 | 167

f& s A7) 0f 2 0.0 00 | %% 00 | 00| 00 | 1000| 00
= AHuA A~ 4 0.0 0.0 750 | 250 | 00 0.0 750 | 250
S8 28 10.7 107 | 500 | 179 | 107 | 214 | 500 | 286

7|Et 23 43 174 | 609 | 13.0 | 43 217 609 | 174
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’\ SI= X} THEE2] 215](ISC) 1 E5AQ &oF SW 1855 2 wSFd i3 2AL
V. 7]t
=] = d
1. AAIE SSAQ 2ofe] Afo] AR
Q AAIE 2ERIQ) Bofe] SW ARo] ARl Tl A AT YAl
QhSo] S0l 65.8%2 Ueh}, ‘meo] Weel(34.2%)urt Arjxoz
2o oz nor
Q 2=Al9) Rolo| SWATs} weto] Wasichy Sat ¥Rl sken] Kol A
RSP Weao] 52.0%2 M A UERGL, ‘@il dajsts A2}
s (28.0%). 71EF(12.0%), "F7F A&7} %9-%*(8 0%) «o= UERd
[AE 2-16] HAIE E5HQ 202 sw % F2| XYY
(SH21:%)
Holo] gostng i—
52.0
28.0
EENERE]
(34.29) 8.0 12.0
noo|  Hyeset &7 x2 7R
MEgzt?t  g2X5e 22T
4oz HIZIHgSE
Base: MA(n=73)
Base: TA| 7|2 & =SEH|Ql £0F 2T H0| BRIty ZEE AFIA|(n=25)
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T HEIIS . AT Al
) »42\ QI K} RITHL S| 2 5](1SC)

[E 2-42] HIAIE EEX4Q 20fe] sw 2 Fo| HHHd
(TH91:%)
A SEar AX|st=E ——
Ab| = IS0 RS Heto] Zest
H A 73 65.8 34.2
=8 10 70.0 30.0
=7/78 6 66.7 333
=q A O 2 100.0 0.0
=
Ho
=0 HHHEA 4 75.0 25.0
28 28 75.0 25.0
7|t 23 478 52.2
[E 2-43] Heto] Hast 23
(E421:%)
PN i =NKe) SiXF oo
I e R - PP TP
dast HBIL s ===
H A 25 52.0 28.0 8.0 12.0
=28 3 66.7 333 0.0 0.0
=5/2& 2 100.0 0.0 0.0 0.0
Sl A _ _ - -
=20
F HHHA 1 0.0 0.0 100.0 0.0
28 7 85.7 143 0.0 0.0
7|Et 12 25.0 M7 8.3 250
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